568 JABAR#KE #HAEHLE(16F—L-2&315-58@) *°

# BH:4827H(K)~5BM (FXEH)
*we: 528 () . 3BOKH)

B A 4A27H(K)~48/ #EER-EFILUIRIE
4R278(K)~5AM HEFLH-HHSREDTLES

AJAavsy B AwvYy cJavsy DJAawvsH
Al KA R B1 nNFI=vy ci|] =EEIMP-G [
A2 JRHE B2 B ®4Em c2 JRAA X D2 JFEEBA XK
A3 AAHFE B3 =SEEILE c3 AALH D3 = 3= ERED
A4 JX—ENEOS B4 HFEEIELLMN c4 BwEH R D4 NTTE B &
XRVFIFERMNR—ER
®18 ® | 9:00 At KIRA R 0 = 2 |A2 JREE
4f27R8 Hhha @ | 11:30 |A3 BAHE 7 ®m 4 |m JX—ENEOS
(K) ® | 1400 [B1 INFI=whH 8 xt 3 [B2 B 8 4Em
) 900 |ci| =EFEFEIRF-5H 0 x 1 |o2 JRE R X
27 ® | 1130 |c3 EEXET 2 x 0 |c4 BEHR
® [ 14:00 [p1 2 _x 3 |p2 JFERHZX
®2H ® | 900 |p3 =ZEDERG 0 x 3 [b4 NTTE B X
4A28H bhe @ | 11:30 |c3 EEER 6 3 5 6] =BEIRR-mW
(£) ® | 14:00 |c4 FEEHR 1 ® 2 |eo2 JREBA X
® | 900 |B3 =EEILE 6 x 2 |B4 FEEESLEE
27 @ | 11:30 |aA3 HAHE 1 5w 4 |a KERAH R
® | 1400 |A4 JX—ENEOS 0 x 3 A2 JRHEE
%30 [©) 9:00 (B3 =EBILE 6 xt 5 [B1 NFY=whH
4829R bh& ® | 11:30 [B4 FHETSEE 3 = 4 |B2 Bi®{Em
(£-$) ® | 14:00 |aA1 KIRAH R 7 x5 |A4 JX—ENEOS
® [ 900 b3 =% B B B i 1 a2 oo [
27 @ | 11:30 |pa NTTEHHX 2 #® 1 |p2 JFEERBAZF
® | 1400 |ci|] =ZEEBEEIWE- 2 # 3 |o4 BEHR
EYE] ® 9:00 |c2 JRE B R 4 % 3 Jcs BERER
4A30R hha @ 11:30 [D1 3 x 8 |[p4 NTTE A &
(/) ® | 1400 |p2 JFEEAX 7 % 4 |b3 =EEHDEREF
[©) 9:00 [A2 JREE 4 % 0 |A3 EEXES
BFIL ® | 11:30 |B4 HEETESLE 2 x 3 |[Bi NFry=—wh
® | 1400 |B2 B ®{Em 2 % 5 |B3 =EEILE
AJOvsh KEHR JREE BAHE JX—ENEOS 2] & 5 [ o4
KERHR ® 0-2 O 4-1 O 1-5 2 1 0 24
JRE & O 2-0 O 40 O 30 3 0 0 141
BAHE ® 1-4 ® 0-4 O 7-4 1 2 0 34
JX—ENEOS ® 5-7 ® 0-3 @ 4-7 0 3 0 a6
B7OvY P EYY) Bisl#efs | =FEILER FEASESEME] B &8 5
P EYY) O 83 ® 56 O 3-2 2 1 0 241
B8R ® 3-8 ® 2-5 O 4-3 1 2 0 34
=BEIERE O 6-5 O 5-2 O 6-2 3 0 0 16
SASESEE ® 57 ® 0-3 ® 47 0 3 0 441
cJoyy |=BETHF-m®| JREAXR BERER AR ] a8 5
ESEETHF-BY ® 0-1 ® 56 ® 2-3 0 3 0 afL
JREH &K O 1-0 O 4-3 O 2-1 3 0 0 141
BA &S O 6-5 ® 34 O 2-0 2 1 0 24
AR O 3-2 ® 1-2 @® 0-2 1 2 0 34
D7Oy4y JFERHAAX |=BEHHERF NTTHEA ;] & 5
® 2-3 O 2-1 ® 3-8 1 2 0 36
JFEEHAR O 3-2 A 7-4 ® 1-2 2 1 0 241
=SEEERE ® 1-2 A 47 ® 0-3 0 2 0 4t
NTTEHEZA O 8-3 O 2-1 O 3-0 3 0 0 141
[ ERBERF— LR NTT#EH ZIS ERBEMT—L W20 _
ol JREE NTTEBE |3
HhhE |1 0]9 4| bhh&
- 5A1B(A)| 9 Hhha 2 [5A1B8(A)
— |ERBELF— LA 9:00 5A18(A) 11:30 ERBAEHF—LNM|
= 14:00 =
HIEE £y JREHZA |§




